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A How mény significant figures are there in each of the follgufing? T

1. 0008030, g. eyt ot v
2. 200.0 mL >
3. 56.90 ¢ <

4.5690 mL~ 4

B. Convert to Scientific Notation and give the number of significant -
figures. - . e S
10000450 MU ggoiio a3

2. 2009.00 g. 2.00900 w o 3 8’ G
3. 23000000 L 2.3 x (o' L 2
4. 0.0000000034 g 3.4 xi07° 8 2

C. Convert to standard notation and give the number of significant figures.
1. 6.02 x 104 mL Cozeo nit 3

2. 2.90 x 10-6L 6. po0002 90 3
3. 6.700 x 103 g. ¢Toc - & .
4. 0.023 x 102 L ©.occ023 L -

D. Find the mass of 2.300 moles of NaCl.

358 2.300 woR v 58§ g 135‘3 of Na.CQ
3.0 p 2

E. What mass of water would you expect to get if you combust 35.0 grams
of methane (CH4) gas?

W = Cul, +rxo —7 Cq +2H ©
T leeq 35-,05 e Lo L 20875 R
IL.o ¢
Mmool Cly: el U 0




